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3+7
Use known addition facts

7+8
Use near doubles

A'4+1,6+3,10+4

Number facts

Single digit numbers
Doubles

Ten and single digits

7=3+4
Secure addition bonds of
single digits and ten

¥ 7+ 10
o Add ten

How shall T add?

+10
12 + 4 24 +1 0 7 17
Counting on in 1s Find one more
1morethan 4is 6§ |
1 more than 14 is 156
+ +1 +1 +1 1 more than 24 is 26
e
0 12 i3 14 15 16 /r"“ﬂ\
1 2 3 4 5
. 4 -
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q-7

5-1,7-8,10-6 3+7 Find the difference between
Number facts Use known addition facts two numbers
Single digit numbers to derive subtraction facts A s
Teens subtract single digits T know 847 =15 7ﬁ?trmcaso
between 7 and 9 s 2

10-38=7

7-3=4
Secure subtraction facts of
single digits and ten
o ’
o0 (7 i
OO
QO 0 (4

Notice
Countlng back in 1s Find one less
17 -10
-

ake away ten
1lessthan 4is 3
1 less than 14 is 13 OO
4 4 4 - 1 less than 24 is 23 O
N N N N
0 12 13 14 15 16 AN 10

1 2 3 4 5 /__\
Crﬂft 5 - e
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3 people each have 4 cats.
How many cats are
there in total?

How shall T multiply? ¥

Count in ones
1,234,56,789,10,1112

32828

QOO
QOO
QOO
OO0

Repeated addition

+4 + 4 +

01 2 346 6 7849 101112

4+4+4=12

C Liz Hopkins O
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12 shared into
3 equal groups

There are 12 cats.
Three people each have the same number of cats.
How many do they have each?

Croft™;

8
L

This product is lic

;
. — 1 for you...
¥

12 can be described as
3 columns of 4
or 4 rows of three

ensed for the exclusive use of The Croft Primary School - www.buzzardpublishi

_ How many groups
Grouping ’of 3 are there in 127

There are 12 cats.
Each person owns 3 cats.
How many people are there?

&.com
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|

8+7,9+9,14 +3
Number facts
Single digit numbers
Doubles
Teens and single digits

5+ 18
Greatest number first
then bridge

0000000000, | _ o 000,

25 + 43
Partition and recombine

Croft™;
44
.
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13+ 17

Use known facts

IfITknow3d+7=10
then I know
134+ 17 5 2 tens more

35 + 27
Count on in tens then ones

35+ 20
Add multiples of ten

IfTknow3+2=5

10s then I know
Atens + 2 teng = 5 tens
. . Eﬂm+m=ﬁfp‘
L +10 +10
/_,..--"'_""--.\{’,.r-'"'_""-.\
0 35 45 65
0

(©) Liz Hopkins



IYearZI

q-4,13-56,18 -9 30-7 46 - 20

Number facts Use known facts Count back: multiples of ten
Single digit numbers 100 - 70
Halves _ — et IfTknow 4 - 2=2
Teens and single digits .OO 30 - 7 i6 2 tens and 3 10s PRl S

so 40 - 20 =20

e m | 2
|.=.20 OOOOO\

23 -5 Ll -10 -10
> P N
(ompelllpre gesss s
DO0O0COCOCOe 000088 —88 0 How shall T subtract?
0 5 0 2 Round then adjust
_ 57 & 5 s than 42 9 105 | 1
o 42 - 37 _|mE g
. Find the difference between L
. two numbers "

U 42 Ll L
. I Tokn ey 20 then ad

=20

Crmemmmmm—— =N

56 - 24 — : = .
Count back in tens then ones fi‘“t;}ii
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IYear 2 ‘ One to many cnrres@
3 people each have 4 cats.
How many cats are
there in total?

s d

Yo vy ¥ > T==%

Fmr cats, multiplied by 3 =
People | Cats =

4-}:3 12

Count in ones

000 0000 000 O 1,2,3,4,56,7,8,9,10,11,12

Count in twos

2,4,6,8 10,12

Use a known fact

If 2 x 3is 6, then
4 x 3 is double 6.

(©) Liz Hopkins

This product is Iicejsed for the exclusive use of The Croft Primary School - www.buzzardpublishing.com



Year 2

How many groups

12 shared into of 3 are there in 127

12 -3=4 .
© Grouping
3 equal groups

There are 12 cats.
There are 12 cats. Each person owns 3 cats.
Three people each have the same fecan dra e 2 B ahd A Raies How many people are there?
number of cats.
H do they h h?
ow many do they have eac 1 for you, 1 for you, Grab a group of 3, < ﬁﬁ
1 for you... grab a group afs Sf<ﬁ
hs i - Lol

oy %<“ﬁ ~

How shall T dmde?

12 can be described as
3 columns of 4
or 4 rows of three

Bar model
+3 +3 +3 +3

%% —»

000 0000 0000
12
4 4 4 If T know 3 x 4 = 12
thenI know 12 =3 =4

Link to fractions.
Croft™; One third of 12 is 4

‘g =-";Ilr This product is IiJensed for the exclusive use of The Croft Primary School - www.buzzardpublishing.com @ Fetoprne




8+7,9+9,14+3
Number facts
Single digit numbers
Doubles
Tens to make 100

IfTknow3+2=5
then I know

243+ 7

Use known facts 325 + 200

000 v
0000~

+100 +100

0 325 b25

6 tens add 5 tens

262 + 152
Formal written method =11 tens or 110

[

+1562

ooem| &

250 + 360
rtition and recombine

(

237 + 199
Round then adjust

100s 10s 1s
O

N | Add 200 then subtract 1
+200

el >N

0 237 436 437

g
g

©) Liz Hopkins
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15-8,18-5

Number facts
Single digit numbers

Teens and single digits

I just knew tt!

- 80
Bridging boundaries
counting back in efficient steps

230 - 30 - 50 = 150

-60 =30

SN
0 150 200 230

234 =100+ 130+ 4

s i
I

Croft™;
48

240 - 7
Use known facts

) OO@@©®@

IfTknow5-3=2

5 hn'mdmdsI 3 hundred

h25 - 300 g

Take away muttiples of ten ko
and a hundred

226 525
4356 -1N
Round then adjust
100s

Find the difference
between two numbers

d for the exclusive use of The Croft Primary School - www.buzzardpublishing.com

m OO
1'3

10s
Take away 200 then add 1

=200

| <3N

0 235 436 435

©) Liz Hopkins



i 6 X4
fopd recat of Use known facts ﬁﬁﬂﬂﬁ
£N S5 2octye ) and place value
3"'"“*'9‘6' coi Bat'o"x '(Yearab'%a) 000000,
t 6x4 =24 0l0/0'0'o’e
T 60 x 4 =240 0/0/0/0/00
6 x 40 = 240 000000
@&wb“D BXAOX@) EEE@®®
000000
) <R
.. 2
\2 x10
II “ ) st How shall T multiply?
200
17 x4
Partition and recombine

e 10X4+7%x4

5x18 Double and halve 40 + 28 = 68
=5X2x18+2
= 10 x 9
= 9

18
5
10

This product is licensed for the exclusive use of The Croft Primary School - www.buzzardpublishing.com

8x3
Repeated addition

IfTknow3x8

{0y &2 Y AR = AR Y aRnY Y 4 -
B ¢ ) E8D PRI /‘ =R
[

0000 0000 Q000
Q000 e]e]e]e) 0000
8 8 8
+8 +8 +8
0 8 16 7

Formal

10 7 17
X 4
4| 40 28 68

© Liz Hopkins



nown facts 24 - 4 240 = 40
: Use known facts How many 40s N
Use 2x, 5x, 10x (year 2) and place value Repeated addition
3X, 4%, 8X (year 3)
24 biscuits shared between 240+40=6
04 -4 =6 +§Emaarsthwmnaet How many steps of 40 make 2407
‘ 6 biscuits each.
40+-40=6 Ifﬂlerea?:clﬁltinﬁnsmany + 40 + 40 + 40 +40 + 40 + 40
04280 mowmmens & ® & W @
each now?
. 7 Sharing equally
How shall T divide?
W4
200 HtenthofliSI ' 10s | 1s 10s .15
=10 =ls "
'2 A tenth of 1 is 1 tenth Opg |3 Cam
20 1+10=2 paE
50T W =0 52 = 4 888
0o Il 0 Partition and recombine '2 el oty
2 ten for you .
45
/ EeEmm==1g | =1
If there are half” as marr OECOHO DEE000 DB EaEEE
42 - 6 biscuits and half as many 40 12
Double and halve e 4 =4
42 -6=21+3 10 + 3 = 13
42
7 7 7 7 7 7
71
7 7 7 10x 4 x4
/—\m
0 40 52

(€) Liz Hopkins
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Year 4

IfTknow2+3=5
then I know

09+ 049, 74 + 26 7+8 2000 + 3000 = § 000
Number facts Use known facts 2(:03 + ?,020 Ny i
Single digit decimals e Use place value to a
Doubles then T know

07408=15

Bonds of 100 70 + 80 = 150
700 + 800 = 1,500
1000s| 100s 10s 1s
OO OO QO
“.—.J 0 00 o &)
16 +07 /0000 Q) @
Bridge through boundaries OOI00O
by counting in efficient steps OO0

OO0000000000000—000e O - How shall T add?

This product is licensed for the exclusive use of The Croft Primary School - www.buzzardpublishing.com

B

| F |
/+04\/+23\ 03' m,356d + 198
o 16 20 23 5,260 + 2,360 Round then agjust
Partition and recombine
1000s | 100s | 10s | 1s
5,748 + 3,374 ' ' Q0O QO ©]@)
Formal written method O O :: OO
e oo ® oo
m&",“e“ 5,748 Regroup and rename
+ 3,%; 10005 | 1008 105 | s Add 2,000 then take away 2
/
111 +2,000
1000s| 100s | 10s | 1s el >\
3,366 6,364 5356

© Liz Hopkins




13-5,18-08 16-8=7

Number facts Use known facts 6,342 - 3,020
Single digit numbers R Use place value to subtract
aves ol
Wholes and tenths 150 - 80 = 70 '
1500 - 800 = 700
1000s | 100s 10s is
I A I A I Nele
1656-07 .FHOOOOO .. .
Bridge through boundaries
wldgcuntm l':wghefﬁcient steps OO0 GIS] Q0
02 -05 B
nﬁﬁ 5 How shall T subtract?

1
B 3562 - 2,136 L 1s 100 §
Fc:rmql written method 4007- 3998 OO0 ....
Find the difference between OO 00
two numbers @)

E’““mﬂ"r 5 g% e
2'235 CGarop rarome >

2916 <7 Take away 2 then add one hundredth
; NN
3@ 400 4007 2
1000s | 100s | 10s | 1s | RN
4,007 0 256 257 456

.
& . -
“ o (©) Liz Hopkins
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6x4

06 is ten times nown facts
6 x 4 40 is ten times amater tran Use k f
Use known . grecker thon 4. and place valu
and place value 06x4 =24

OOOOO® 4 jumps of 06
6x4=24 000000
_ +06 +06 +06
PN N N N
. 12 18 24
234 X 100 O
Multiply by 10, 100 D&% 06 x 4 = 24 tenths
06x4=24
1 1
100s 100 S
@
30
|2 7 %X 36
234 Use the -
distributive law T
36
7 X@6) 30 .6 36 x7
. Formal written method
45%6 =7x60+ 7 X6 210 42
Use factors and =210 + 42
2 commutativity = 2562 30 6 36

X 7
2

5
71 210 42 )
2% (6X6)=(2x5)x%x6 236 X 7 ?
2%x30=10 X6 45 X 6 S
=65x9%6 200 \ [ 80N |6\
X7

=5X6x%9 X7 X7

Croft™; = 23‘3 X 4 1400 + 210 + 42 =1662

1o e-y Tyt i,
. »
o © Liz Hopkins
‘?.'r
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LA

: 24 - 4 240 5 ten times 2400 = 60
Us ' f;c;sf_ al Use known facts bl i Use known facts
m;t;fccatbon tables N place vaue | and place value
a 24 biscuits shared betw
up to 12 X 12 to had =B ggﬁﬁﬁtmmﬁ 2400 = 60 = 40
P AN = .
derive division facts 240 -~ 40 =6 If there are 100 times as many How many steps of 60 make 24007
| | 2400=400=6  peopkandi00tmee o n ™ / 10x60  10x60  10x60 -
N 0400 = 400 = 24 x 100 SN NOW? PN VN
24 - 100 . 2400+400 :H 1::?3 0 600 1200 1800 2400
4
100s| 10s | 1s | 15 L 732 -6
1058 | 100s o Formal written method
00 0@ 24 ~ How shall I divide?
(GRC) 12 =10 1
o0 99 24 12 100 6[7'32
. '2 =10
.. o 122
6/7'32
. 4%6-8 516 = 3= 4
Partition and recombine
4_% -8 GOx8 2%8B
/N N — 516
480 16 0 480 496 172 172 172
-8 -8 43.43;4_3 43
60 + 2 = 62 '
Croft™;

{©) Liz Hopkins
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IYearSI

08+07,45+ 45
Number facts
Single digit decimals
Doubles
Bonds of 1 and 100

2 digit add 2 digit numbers
0.016 + 0.007

Bridge through boundaries
by counting in efficient steps

7+8
Use known facts

then I know
07+08=15

7,000 + 8,000 = 15,000
70,000 + 80,000 = 150,000
700,000 + 800,000 = 1,500,000

35,040 + 22,070

25,748 + 46,374
Formal written method

Partition and recombine

10,000s

IfIknow7+B=15

is

IfFTknow 2+3=5
then I know
2000 + 3000 = 5 000

12,403 + 3,020
Use place value to add

10,000s

OO0
Q

OO

This product is licensed for the exclusive use of The Croft Primary School - www.buzzardpublishing.com

32,356 + 19998
Round then adjust

10,000s | 1000s | 100s

105 |
OO OOO %8 00

Add 20,000 then subtract 2

+20,000

>N

0 32,356 652,354 523%6
52,354

©) Liz Hopkins



15-8=7
Use known facts
IfTknowisE-8=7

then I know
15-08=07

9-4,13-5,18-9
Number facts
Single digit decimals

16,000 - 8,000 = 7,
150,000 - 80,000 = 70,000
1,500,000 - 800,000 = 700,000

_ﬂOOOOO
OO0

@~

Bridge through boundaries
by counting in efficient steps

How shall T subtract?

45,748 - 26,374
Formal written method

20,045 - 19989
Find the difference between
two numbers

This product is licensed for the exclusive use of The Croft Primary School - www.buzzardpublishing.com

Blessthan 1258 7
Now it s easy to

40,012 - 3,005
Use place value to subtract

40,000 = 4 tens of thousands or 40 thousands
12 =1 ten and 2 ones or 12 ones

40,012 = 40 thousands and 12 ones
take away 3 thousands and 5 ones

equats 37 thousands and 7 ones.
43453 - 19998
Round then adjust
10,000s | 1000s | 100s | 10s 1s
O @ Q0O OO 00 0O
0g| © |00 |00 | O
O
Take away 20,000 then add 2
-20,000
AN
0 23453 23455 43453
(©) Liz Hopkins



6x4
6x4 40 is ten times Use known facts
Use known facts greater than 4 and place value

and place value 06X4 =24
4 jumps of 06
+06 +06 +06 +06
B W /—\
0 06 12 18 24

06 X 04 = 24 hundredths
06x04 =024
06 t

2.34 x 1000
Multiply by 10, 100, 1000

1000s| 100s
| x10 X100
00 2 . 15 x 42
234 Using factors and
zxio distributive law
O Ay
- =15 X6)x®) 6 1
423 x 4 =q0x8 5 15
Partition and recombine =720
427 % 38
X 38
12810
= ;g x 015 X8) 15* 30| 12,000 | 600 210 | 16226
= + 12
=210
8| 3,200 160 56
i © Liz Hopkins
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facts:

Include calcuations where
remainders occur

24+ 4 54,000 s a thousand times
Use known facts grecterthan 2¢
and place value

| 24 -06
Us recall of' all known facts
multiplication tables 24 biscuits shared between and place value
upto 12 x12to 24+-4=6 4 people means they will get 24:06=4
derive division facts 240~ igo =0 e o500 times as many| HOW many steps of 06 make 247
- - le and 1000 times as many
24,000 = 4000 =6 bieuits, how many biscuts +06 +06 +06 +06
each now? nary/ Deo m/"—‘\/ﬁ\
24 = 1000 24,000 = 400 = 24 x 1000 0 06 12 18 24
. ' 4 x 100
@w 10, 100, 1000 240 = 60
4 _
1 1 1 : - 5724 = 4
100s| 10s . : 108 | 1i00s | 1000S Lt Formal written method
OO 24 _
. . ‘2 +10 | .
@ O 14
'Jém 46724
| ‘2+1l}
496 - 8 1431
Partition and recombine 45724
4_% =8 60 x 8 2x8
/N /—\/’—“‘-\
480 16 0 480 496
-8 -8 1612
The ..';' _ 52 282 252 262 262 1]
Croft 2 = 62 63 63|63 63 ' |

- g

This prod
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¢ + 56,27 + 27 17 + 17

1 e s pms oo,
Single digit decimals TFT know 17 + 17 = 34
Doubles then T know

17,000 + 17,000 = 34,00C
170,000 + 170,000 = 340,000
1,700,000 + 1,700,000 = 3,400,000

1,000,000s| 100,000s | 10,000s| 1000s | 100s 10s is
. .‘ .. O O . QO %% 80
0028 /10000 00
028 + 0015 @< Y |
Bridge through boundaries 00O @0
by counting in efficient steps
T
How shall T add?
+0101 +0002 +0008
P
0 0028 008 0040 0043
307,040 + 206,070

_ TS s SR Partition and recombine w06 | 15
/) + r - ~
Pt ayhtan Bt 00 100100 (g9 (8333
Exchange ten of ' +@200,000 © OO

=z e
10)= 513,110
dd 100,000 then tak 1,000
572,122 Add 100,000 then take away 1,
1111 100,000s |10,000s 1s +100,000
100,000s 10,0005 | 1000s | 100s | 10s | 1s 8 © e\
0 432,356 531,366 532356
‘ OO
— —

‘ﬁ (©) Liz Hopkins
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09-04,100-65 36-18=18
Number facts Use known facts
Single digit decimals TfIknow 36-18 =18
Halves then T know
36-18=18

36,000 - 18,000 = 18,
360,000 - 180,000 = 180,000
3,600,000 - 1,800,000 = 1,800,000
Qg ~ -sO O00QO

0054 - 0017

Bridge through boundaries
by counting in efficient steps

How shall T subtract?

200,450 - 199989
Find the difference between
two numbers

445,748 - 126,374
Formal written method

Exchange ten of 1
Lt
+

126,374

319,374

100,000s |10,000s | 1000s | 100s | 10s | 1s

Croft"™;
0
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400,032 - 30,005
Use place value to subtr

5 less than 32 is 27
act

400,000 = 4 hundreds of thousands
or 400 thousands
400 - 30 = 370 so 400,000 - 3,000 = 370,000

400,032 = 400 thousands and 32 ones
take away 30 thousands and 5 ones
= 370,027

Take away 100,000 then add 100

-100,000

+100
0 143453 143 553

243 453

(©) Liz Hopkins



6x4
6 x4 40 is ten times mm Use known facts
Use known facts greater than 4 and place value
and place value 006 X 4 = 0.24

4 jumps of 0.06
600 400 = 240,000 1006 0% 0% A¥®
— - / W
6000 x 4000 = 24,000,000 0 006 012 018 024
234 x 1000 (ExA0x4)x 10
fti 10, 100, 1
Mukiply by 10, 100, 2600 =24 X100 06 x 04 = 24 hundredths
06x04 =024 1
1000s | 100s
254 How shall T multipty?
‘2 x10
23.4‘2 \2
x10 x100 15x42
o0 234 Using factors and
zxio distributive law
o0 OOO 2340 16 x48>
B =16X6)x® 6 1
4203 x 4 =9q0x8 5 15
Partition and recombine =720

2427 % 38
14 Formal written method
2|03 X 4 6 8

T 16 x14) 2427
4000\ [200\ |8\ :\ X 38
x4 x4 X4 =15 X6 ¥ 15 X&) 15* 19416
16000 + 800 + 12 = 16812 =020 e
Croft™; =e0 te

........ e e "
‘; -'# , , _ i © Liz Hopkins
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Year 6
Ind.:ia EWE -24_ 4_ mgm 24 D'ﬁ _'_""""--‘____h
: Use known facts “’“‘9“ nﬁistm Usel-:.nnwnt‘acts
Use recall of al and place value “‘"E lace valie
multiplication tables _ 24 biscuits shared between and p
upto 12 x 12 to 240+40=6 4 people means they will get 24 -06=4
derive division facts Ef"d%% + 400 =_56 6 scuts each, @ many | How many steps of 06 make 247
240,000+ 40,000 =6 LeopeadiOtmesasmany f 56 406 406 40
2,400,000 + 400,000 =6 cachrew? /’““\/’*‘\./"‘\f”*“\
24 = 1000 240,000 + 400 = 24 x 10,000
Divide by 10, 100, 1000 4 x 100
2400 = 600
4 e
100s| 10s is % s 1%.-_} S 1+.m 5 Tiﬂ?tt.; Qi.nEthod
0O :: ot  How shall T divide? i Formal writen
Q0 12 10 1000s| 100s | 10s | 1s
24 @0 )
|2+1n 1000 /. l.l }4 88 1431
0.24 i > {1
=10 =
002 4‘2 1612 = 24 E
: Using factors 3¢
) <
4960 - 8 342
Partition and recombine 21/17182
63
-8 600 % 8 20 % B LA 88
f,ﬂﬁo\ //'_‘\ﬁ 1612 -6 4 84
4800 160 0 4800 4960 42
. . 1612 4._2
+8 +8 262 262 262 262 262 262 0
EOD + 20 = 620 6aes esles| | | | HEREE | ]
Cruft
‘l; ".- (©) Liz Hopkins
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